
 

 
 

S O L U T I O N 
 
We know that Rebecca swam 18 lengths of butterfly, which means that Adam swam 36 
lengths of breaststroke (each did half as many lengths butterfly as the other did 
breaststroke). 
 
105 lengths need to be accounted for in total. 
 
105 (total lengths) – 54 (total lengths known so far) = 51 lengths 
 
We know that Rebecca swam half as many lengths of breaststroke as Adam’s butterfly; in 
terms of cocktail recipes, that’s one part breaststroke to two parts butterfly, equalling three 
parts total. 
 
51 divided by 3 = 17. 
 
Rebecca did 17 lengths breaststroke, and Adam swam twice this number of lengths of 
butterfly. 
 
Answer: Adam swam 34 lengths of butterfly.  
 

 


